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Homework Discussion
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If the k" row contains exactly k numbers for every natural number k, then the row in
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QUESTION ) Rpp 1A
Paragraph

In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then .

y = f(x) is given by
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Ans. A



QUESTION )

Rpp 1B
Paragraph

In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Minimum value of y = f(x) is
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QUEST.ON ) Rpp 1C
Paragraph

In the given figure vertices of AABC lie on y = f(x) = ax® + bx + ¢. The AABC is right
angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Number of integral value of k for which g lies between the roots

of f(x) = 0, is
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QUESTION ) @

Givena+ b = 50,a,b € R*. If A, G and H are, respectively, the AM, GM and HM between
the numbers a and b, such that the GM exceeds HM by 4, then
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QUESTION )

If a,, a,, a, ......,, @, are in H.P. then show that a,a, + a,a; + a;a, +.....+2a,_;3,=(n-1) a;a,
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QUESTION )

If a, b, c are positive numbers & a + 2b + 3¢ = 7 then find maximum value of :
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QUESTION )

If a, b, c are positive numbers & a + 2b + 3¢ = 7 then find maximum value of :
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Cauchy Schwarz |nequality @
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Root Mean Square = AM > GM = HM
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QUESTION )

If a, b, c are positive then prove thata—3+i+£>E
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QUESTION )

Ifa,<Oforalli=1,2,..,n prove that
(i) (a;+a,+- +an)( PRI O ) > nZ.
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QUESTION )

[fx>0,y>0,z>0, then prove that (x +y) (v + z) (z + X) = 8xyz.
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QUESTION >

If ;€ {1, 2,3, ... 6} are positive roots of the equation
6 —12x> + ax* — bx® —dx + 64 = 0, then value of b is
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QUESTION [JEE Advanced 2020 (Paper1)] ) (%)

Let m be the minimum possible value of log;(3Y* + 3Y2 + 3¥3), where y,,y,, y3 are real
numbers for which y; +y, +y3 =9. Let M be the maximum possible value of

(logz x1 + logz X + logz x3), where x4,X;,X3 are positive real numbers for which

X; + X, + X3 = 9. Then the value of log,(m?) + log;(M?) is i
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QUESTION )

Show thatif a, b, ¢, d be four positive unequal quantitiesand s=a+ b + ¢ + d, then
(s-a)(s-b)(s-c)(s-d)>81 abcd.
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Exponenual & Logarithmic Series
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QUESTION )

| ' ' _cy.3.2 =5
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Solution to Previous TAH







































































































































Solution to Previous RPPs



QUEST.ON ) Rpp 1A

Paragraph
In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then .

y = f(x) is given by

xZ
do

Ans. A



QUESTION )

Rpp 1B

Paragraph

In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Minimum value of y = f(x) is

C JC NC NC

A

Ans. B



QUESTION ) Rpp 1C

Paragraph
In the given figure vertices of AABC lie on y = f(x) = ax® + bx + ¢. The AABC is right
angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Number of integral value of k for which g lies between the roots

of f(x) = 0, is
9
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